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2. 14. 13. 17.], erreur Mk 0 = 215.61422002311'6n(1)p Series : [ 1.

2. 14. 13. 18.], erreur Mk 1 = 246.180372444
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Temp Series : [ 1. 2. 14. 13. 6.], erreur Mk 2 = 261.23273686111'6r6p Series: [ 1. 2. 14. 13. 10.], erreur Mk 3 = 262.897853449
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2. 14. 13. 4.], erreur Mk 4 = 288.89217611511'86;) Series : [ 1.

2. 14. 13. 12.], erreur Mk 5 = 290.420194284
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2. 14. 13. 8.], erreur Mk 6 = 293.379267836f8n6p Series: [ 1. 2. 14. 13. 16.], erreur Mk 7 = 294.529292665
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2. 14. 13. 5.], erreur Mk 9 = 297.24969797




